
ה   כפל שבר בשלם  יתָּ  ' דכִּ

 

 

 כפל שבר בשלם 
 השלימו לפי הדוגמה:

דוגמה:  .1
1

4
× 4 =

1

4
+

1

4
+

1

4
+

1

4
= 1 

2. 
1

5
× 5 = _____________________ = 1  

3. ________ =
1

2
+

1

2
+

1

2
= 1

1

2
 

4. 
1

2
× 4 =

1

2
+

1

2
+

1

2
+

1

2
=  __________      

5. 
1

4
× 3 = ______________________ = ______ 

6. 
1

3
× 6 = ______________________________ = 2 

7. 
1

2
× 5 = ______________________________ = 2

1

2
 

8. __________ =
1

7
+

1

7
+

1

7
+

1

7
= _______ 

9. ___________ =
2

10
+

2

10
+

2

10
+

2

10
+

2

10
= _______ 

10. 
1

6
× 4 = _______________________ =

2

3
 

11. __________ =
1

12
+

1

12
+

1

12
=

1

4
 

12. 
1

2
× 6 = ___________________________ = 3 

13. 
1

5
× 8 = ____________________________________ = ____ 

14. __________ =
1

3
+

1

3
+

1

3
= ______ 
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ה   כפל שבר בשלם  יתָּ  ' דכִּ

 

 תשובות
 

דוגמה:  .1
1

4
× 4 =

1

4
+

1

4
+

1

4
+

1

4
= 1 

2. 
1

5
× 5 =  

1

5
+

1

5
+

1

5
+

1

5
+

1

5
= 1  

3. 
1

2
× 3 =

1

2
+

1

2
+

1

2
= 1

1

2
 

4. 
1

2
× 4 =

1

2
+

1

2
+

1

2
+

1

2
=  2     

5. 
1

4
× 3 =

1

4
+

1

4
+

1

4
=

3

4
 

6. 
1

3
× 6 =

1

3
+

1

3
+

1

3
+

1

3
+

1

3
+

1

3
= 2 

7. 
1

2
× 5 =

1

2
+

1

2
+

1

2
+

1

2
+

1

2
= 2

1

2
 

8. 
1

7
× 4 =

1

7
+

1

7
+

1

7
+

1

7
=

4

7
 

9. 
2

10
× 5 =

2

10
+

2

10
+

2

10
+

2

10
+

2

10
= 1 

10. 
1

6
× 4 =

1

6
+

1

6
+

1

6
+

1

6
=

2

3
 

11. 
1

12
× 3 =

1

12
+

1

12
+

1

12
=

1

4
 

12. 
1

2
× 6 =

1

2
+

1

2
+

1

2
+

1

2
+

1

2
+

1

2
= 3 

13. 
1

5
× 10 = + + + + + + + = 1

3

5
 

14. 
1

3
× 3 =

1

3
+

1

3
+

1

3
= 1 
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